
Chapter 2     Integers and Algebraic Expressions

Review Your Skills
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Section 2.1     Integers, Absolute Value, and Opposite

Section 2.1   Practice Exercises

1.
(a)
positive; negative



(b)
integers



(c)
absolute



(d)
opposites


2.
–340 ft

3.
–86 m


4.
–$45


5.
$3800


6.
5


7.
–$500


8.
$23


9.
–14 lb


10.
–2000 ft


11.
1,400,000


12.
–$20,000

13.
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15.
–2


16.
8


17.
0 > –3


18.
–1 < 0


19.
–8 > –9


20.
–5 < –2


21.
8 < 9


22.
5 > 2


23.
–226 < 198


24.
408 > –416
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(a)
–8



(b)
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(a)
–14
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(a)
7
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(a)
4



(b)
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39.
Neither, they are equal.


40.
Neither, they are equal.


41.
–5


42.
–31


43.
12


44.
25


45.
0


46.
–1


47.
1


48.
612
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85.
Portland is between 20º and 30º; about 25ºF


86.
Atlanta is between 40º and 50º; about 42ºF


87.
Bismark is between –20º and –30º; about –22ºF


88.
Denver is between 0º and –10º; about –8ºF


89.
Eugene is between 0º and –10º; about –2ºF


90.
Orlando is about 50ºF


91.
Dallas is between 40º and 50º; about 44ºF


92.
June is the greatest amount below average; –6 in.


93.
September is the greatest amount above average.


94.
August had the average amount of rainfall.
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97.
Positive


98.
Positive


99.
Negative


100.
Negative
Section 2.2     Addition of Integers

Section 2.2   Practice Exercises

1.
(a)
0
(b)
negative; positive
(c)
To find the sum of two numbers with different signs, subtract the smaller absolute value from the larger absolute value. The sum takes the sign of the addend with the greater absolute value.
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21.
To add two numbers with the same sign, add their absolute values and apply the common sign.
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30.
To add two numbers with different signs, subtract the smaller absolute value from the larger absolute value. Then apply the sign of the number having the larger absolute value.
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Marquette had above average snowfall.
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Hilo had above average rainfall.
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Section 2.3     Subtraction of Integers

Section 2.3   Practice Exercises
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(b) –5 + 4
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To subtract two integers, add the opposite of the second number to the first number.
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minus, difference, decreased, less than, subtract from
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 His balance is –$375.
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His balance is –$185.
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 The balance is $18,084.
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 The balance is $2221.
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Section 2.4     Multiplication and Division of Integers

Section 2.4   Practice Exercises
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